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BT ZER7E, FEMTUER Nebula Graph #Z LA schema:

e tag, 3 fh tag, BN 3 KRS, BIE applicant (AIEA) . device (&%) I wifi,
* edge type, 3 MR E, RIFASHIFBAZEINIER (applicant)-[know]->(applicant),
HiFA{EAIRE (applicant)-[use]->(device),
BEIEAwIifi (device)-[addTol->(wifi),

Tag B4 B E LR AR

applicant id int BF ID

- name string P&

- info bool EETAEMHINLE
- overdue bool =LHEHHE

device id int %% ID



- type string REXR

wifi ip string wifi IP ik
it R 2=

know applicant applicant

use applicant device

addTo device wifi

BHEBEEZHRIBFERNER, BRFNFBEARSHEEHGE, IRE, WERELME. WRKE, Wi
SR REIRAE,
1. LEi#HEACase, BAREWEEZETRBEHE.

FETCH PROP ON applicant "Case";

YWETE: 360 FI‘ (\,\_ @

FETCH PROP ON user "Case’|

B IAE R overdue 1IN false, WHEAKRIEHA.
2. BT REWHIBA Case BZMLE—ETFR, UR—EFRHPEZVHLEATEHTE.

GO FROM "Cash"™ OVER know | YIELD COUNT(x);
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1 GO FROM "Cash” OVER know | YIELD COUNT/(*)

$ GO FROM "Cash" OVER know | YIELD COUNT(")
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GO FROM "Cash" OVER know WHERE $$.applicant.overdue == TRUE | YIEL
D COUNT () ;
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1 GO FROM "Cash” OVER know WHERE $§.applicant.overdua == TRUE | YIELD COUNT(+);
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1 GO FROM "Cash® OVER uses

$ GO FROM "Cash” OVER uses
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1 GO FROM "Cash" OVER uses YIELD uses. dst AS dst | GO FROM $-.dst OVER uses REVERSELY

$ GO FROM "Cash" OVER uses YIELD uses._dst AS dst | GO FROM $-.dst OVER uses REVERSELY

+

i %

AR T E



Hugo
Cash \‘ﬂu\'

A

nobody Ford

LEMEE: 360 v|@ ﬁ @ @

1 GO FROM "Cash’ OVER uses YIELD uses._dst AS dst | GO FROM §-.dst OVER addTo YIELD addTo. dst AS wifi | GO FROM §-.wifi OVER addTo REVERSELY YIELD addTo. dst AS device | GO FROM §-.device OVER uses REVERSELY WHERE §§.applicant.name I= "Cash”
YIELD DISTINCT §§.applicant.name

'§ GO FROM "Cash” OVER uses YIELD uses._dst AS dst | GO FROM $-.dst OVER addTo YIELD addTo._dst AS wifi | GO FROM $-»

o | ==

fi OVER addTo REVERSELY YIELD addTo._dst AS device | GO FROM $-.device OVER uses REVERSELY WHERE $$.applicant.name != "Cash” YIELD DISTINCT $$.applicant.name
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6. BABWHIEA Cash M-EHFR, UR-EFRPESVEREH.

1 GO 2 STEPS FROM "Cash" OVER know | YIELD COUNT(x);

2 +—————————— +

3 | COUNT(x) |

4 +—————————- +

513 |

6 +—————————— +

7

8 GO 2 STEPS FROM "Cash" OVER know WHERE $$.applicant.overdue == TRU

E | YIELD COUNT(x);
Empty set (time spent 4513/5295 us)
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[1] Nebula Graph https://nebula—-graph.com.cn/

[2] HIE S https://mp.weixin.qg.com/s/1TyhW2GYhBkatNnwvr_mNZQ

[3] #EFHIES AT R https://docs.nebula—graph.com.cn/nebula—exchange/about-exchange/ex—
ug-what-is—exchange/

[4] AIM M TR https://docs.nebula—graph.com.cn/nebula-studio/about-studio/st—-ug-what-is—
graph-studio/
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—-DDL

CREATE SPACE IF NOT EXISTS a36@(partition_num = 1, vid_type = FIX
ED_STRING(30));
USE a360;

CREATE TAG IF NOT EXISTS applicant(id int, name string, info bool
, overdue bool);

CREATE TAG IF NOT EXISTS device(id int, name string);

CREATE TAG IF NOT EXISTS wifi(ip string);

CREATE EDGE IF NOT EXISTS know();

CREATE EDGE IF NOT EXISTS uses();

CREATE EDGE IF NOT EXISTS addTo();

—-DML

INSERT VERTEX applicant (id, name, info, overdue) VALUES "nobody"
:(100,"nobody", FALSE, FALSE);

INSERT VERTEX applicant (id, name, info, overdue) VALUES "Aaron":
(101,"Aaron", TRUE, FALSE);

INSERT VERTEX applicant (id, name, info, overdue) VALUES "Ace": (1
02,"Ace", TRUE, FALSE);
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INSERT VERTEX applicant (id,
03,"Ben", TRUE, FALSE);
INSERT VERTEX applicant (id,
104,"Bill", TRUE, FALSE);
INSERT VERTEX applicant (id,
105,"Case", TRUE, FALSE);
INSERT VERTEX applicant (id,
106,"Cash", TRUE, FALSE);
INSERT VERTEX applicant (id,
07,"Dan", FALSE, TRUE);
INSERT VERTEX applicant (id,
08,"Don", TRUE, FALSE);
INSERT VERTEX applicant (id,
09,"Ean", TRUE, FALSE);
INSERT VERTEX applicant (id,
10,"Eli", FALSE, TRUE);
INSERT VERTEX applicant (id,
111,"Ford", TRUE, FALSE);
INSERT VERTEX applicant (id,
112,"Gary", TRUE, FALSE);
INSERT VERTEX applicant (id,
113,"Hugo", TRUE, FALSE);
INSERT VERTEX applicant (id,
14,"Ian", TRUE, FALSE);
INSERT VERTEX applicant (id,
15,"Jan", TRUE, FALSE);

INSERT VERTEX device
INSERT VERTEX device
INSERT VERTEX device
INSERT VERTEX device

(id, name
(id, name
(id, name
(id, name

INSERT VERTEX wifi
INSERT VERTEX wifi
INSERT VERTEX wifi
INSERT VERTEX wifi

VALUES
VALUES
VALUES
VALUES

name,

name,

name,

name,

name,

name,

name,

name,

name,

name,

name,

name,

name,

~ ~— ~— ~—

VALUES
VALUES
VALUES
VALUES

"wifil":
"wifi2":
"wifi3":

"wifig4":

INSERT EDGE know() VALUES "nobody" ->
INSERT EDGE know() VALUES "nobody" ->
INSERT EDGE know() VALUES "nobody" ->

info,

info,

info,

info,

info,

info,

info,

info,

info,

info,

info,

info,

info,

"Honorl10": (200,
"Mate40":
"iPadl10":
"MacPro":

(
(
(
(

"Aaron":();
"Bill":();
"Ford":();

overdue)

overdue)

overdue)

overdue)

overdue)

overdue)

overdue)

overdue)

overdue)

overdue)

overdue)

overdue)

overdue)

"172.16.
"129.12.
"172.16.
"192.26.

"Ben": (1

"Bill": (

"Case": (

"Cash": (

"Dan": (1

"Don": (1

"Ean": (1

"Eli": (1

"Ford": (

"Gary": (

IIHugoll: (

"Honor10");
"Mated0");
"iPad10");
"MacPro");



INSERT EDGE know VALUES "nobody" -> "Ean":();
INSERT EDGE know VALUES "Cash" -> "Ean":();
INSERT EDGE know VALUES "Cash" —-> "Gary":();
INSERT EDGE know VALUES "Cash" -> "Hugo": ()

()
()
()
()
INSERT EDGE know() VALUES "Ian" -> "Ean":()
()
()
()
()
()

INSERT EDGE know VALUES "Gary" -> "Hugo":
INSERT EDGE know
INSERT EDGE know
INSERT EDGE know
INSERT EDGE know

AON
VALUES "Hugo" -> "Ford":();
VALUES "Cash" —> "Eli":();
VALUES "Cash" -> "Ace":();
VALUES "Hugo" -> "Cash":();
INSERT EDGE uses
INSERT EDGE uses
INSERT EDGE uses
INSERT EDGE uses

() VALUES "nobody" -> "Honor10":();
() VALUES "Bill" -> "Honorl0":
() VALUES "Ford" -> "Honorl0":
() VALUES "Cash" -> "Honorl0":
INSERT EDGE uses() VALUES "Hugo" -> "HonorlQ":
INSERT EDGE uses() VALUES "Gary" -> "Mate40":
INSERT EDGE uses() VALUES "Ford" -> "Mate40":

()

()

()

()

()

()

);
);
);
);
INSERT EDGE uses VALUES "Cash" —-> "Mate40":
INSERT EDGE uses VALUES "Bill" -> "Mate40":
INSERT EDGE uses VALUES "Ian"
INSERT EDGE uses VALUES "Ean"
INSERT EDGE uses VALUES "E1i"

INSERT EDGE uses VALUES "Dan"

(
(
(
(
)
)
)
)

"MacPro":
"MacPro":
"iPadlo":

>
>
>
—-> "MacPro":

INSERT EDGE addTo() VALUES "Honorl@" -> "wifil":();
INSERT EDGE addTo() VALUES "Mate40" -> "wifil":();
INSERT EDGE addTo() VALUES "iPad10" -> "wifi2":();
INSERT EDGE addTo() VALUES "MacPro" -> "wifi3":();
INSERT EDGE addTo() VALUES "MacPro" —-> "wifi4":();

CREATE TAG INDEX IF NOT EXISTS applicant_name ON applicant(name(2
0));

CREATE TAG INDEX IF NOT EXISTS applicant_info ON applicant(info);
CREATE TAG INDEX IF NOT EXISTS device_name ON device(name(20));
CREATE TAG INDEX IF NOT EXISTS ip ON wifi(ip(20));

REBUILD TAG INDEX applicant_name;
REBUILD TAG INDEX device_name;



REBUILD TAG INDEX ip;
REBUILD TAG INDEX applicant_info;
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